- adj(adi(4)) = 54

A B ben % n matrices such that AB = 0, Then.

{£) A or B is a zero matrix

- 305 and a1 — 0 + 395 = 0. Then,
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‘be n % nrow equivalent matrices. Then.
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Q2 (10 points) Let A=| -1 1 1 | 4 ) be the Augmented matrix of a linear system.
L8 Fn B

Find the values of o, 8 =0 that

(a) the syst.em is consistent
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( E} the system is inconsistent
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(c) e the homogeneous system whose coefficient matrix is A above
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e formulae that gives the relation between A and adj(A4)

& ool | (A) = f/i/l'I

_ {b) Show that |adj(A)] = [A]*
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(c) If A is nonsingular. Show that adj{adj(4)) = |4jr=2A4
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Q5: Bonus(10 points) Let
is nonsingular

Abenxnn = 2 matrix. Prove that A is nonsingular if adj( 4)
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